


the o] ekl WA ALS Zow?

® 2x-4y+5=0
5 5

) ¥+ y=0

® 2x+4x+5=0
5 5

® 4x-2y-5=0

NIV,




the 27} 2ol YT H A2, a) At ‘
= A9 718715 my, 987 A B2, -
3) 7’

2 Ak AAH9) 71871E m, 2 3h4 A
mq Xmgz_lgmﬂyap’]%}:%q_ﬁ]'tﬂ? z
2 3 4 B(2,-3)
® 3 @ ) ® ;
©3 ©3



4. AM x+ay+1=0°] x—y+1=07=FFo]a, x4+ (2-b)y-1=0
Vs FPL W, a+ b9 gH27

D1 @ 2 ® 3 @ 4 ® 5



5.

A (4,5) & A4 3x -4y -2 =0 Ao o] A E FoHH?

® -1 @ 0 ®1 @ 2 ® 3



6. f(x)zax+bo]j_2sf(1

; )<5 3<f(3)<oL e
A9t A5 gL Tobn a]

A



AMAAR 1), B(-k+1,3), C(1, k+2)7} &

=]
O’C/é].

O -2

% k) FEEe] e

@ -1

@ 3

® 5



8. ab<0, ac>02 ™, AH ax+by+c=00°] AU b= AHEHZ?

D A 1,2 AHEH @ A 1,3 AHEH ® A 2,4 AFEH

@ Al 2 AH2H ® Al 4 AH2H



2t 9ol Al A A(-2. 1), B4, 7). C(6. 3)

I=RER)

AABCZF ey A y = mx + 2m + 19 &5}
o552 ul, ;| g

_&m[o
>

>

us]
Qo
1o

@ @

=~
SN
©
e
®



Yot = 24 x-2y+10 = 0, x+3y-5 =0
2y=ax+b T W 2a+b2 7S Foloqdt



11.

:x2_x—|—1 —?494 @ %01]/\‘1 Zl]/]\jy:x_?) Oﬂ—OJ 7%a7~|_
S (a, b) W, a+b 9] FHe FHA?



12, QAN A4 ax+ by +4 = 0 74212 A7} V2 L ) a2 + b2 ©]
gre sh?

@ 4 @ 8 ® 32 @ 4 ® 23



13.

5 A x-3y+5 =0, x+9y-7 =0 0] LA AT, x 5] o]
W} 30° 9] 242 o) T AH] WAl xtby+c =0 W bte

of g2 Fsfolet.

5 L
=%



14.

%A (4,-2),(2,-3) 2 ALk 4

Ot &, AOAB 9] ¥4

D S
=%



15.

A xtay-1=0 x5,y Fo| Fo| F2L=2 F2P

ol ; 4wl a o 3k Tokofek (2a>0)

Rl Eia=

o] AHzZy

—

k4]



16.

the 13 o] HEBW 9191 A P(=5,3) 2 Ak xZo] B
2 o] QRS y = 4x—5 9 T} vt HE Q o @k PQ
of Zoji=?




17. A (1,1), B (-2,-3), C (k,k+ 1)°] QA 9o
9] gk& stofet

ag:k:

o]
AR

=

=

=

]_

ot

rr



S2REES

2 2x% - 3xy+ay? —2x+9y+b =09]

ki

17}

5

x,yoll &

18.

@ 4 ® 6 @ 8 ® 10

O 2



19. M A x+y+2=0 x-y-4=0, 3x—ky—-9=100°]
s 4 7] gk o) 222

D -3<k<3, k<—-6 @ k=2, k=43
® -3<k<3,k>6 @ k+2, k++3

® 3<kEEk>3

A7}

3

tlo



20.

o
o
i<

|
“l\?

|
=
@
-
w

of tiste] A1k AB ©] 4-4o] 51
La+b ] %S Totofel,

A

—

S



21.

T AM ax+ by +1=03 a'x+ oy +2 =09 ZFL Avke A4

o] 9AL =T}ty 71277 —19 o, “';Z'_q Zre Fobmo(c

a#b, 2b # b’ °Jt}.)

@® 2 @ V3 3@ 3 @ 245 ® 5

’



07 A A3, 1)= Av= Ade= S44l

y:

® 5

@ 4

@ 3

@ 2

1



23.

2o O,
o o 2t

v

41 o o
Ol
ol

b
o <

£ o

o

L

= kx® 4+ k(k + 1)x + 2k% — 2k + 1 & k 9] Zholl BA glo]
Ae Adet. o] Ho| HEE P(a, b) F T W a+b 2



24. HA(2,0) = Avtes Aol A Lol Histel 4
0 &} 24 [ Afol Q] A o] ZTghe?
D 2 @ 3 ® 242

A(2,0)
@ 5 ® 4

=l
8



Al A 0(0, 0), A(4, 3), B(-2, 6) = HAHOZ 5ti= AOAB 9] H ]

9

@9 @ 10 ® 12 @ 15 ® 18



